927 "7 3"7 '01N 2,2 Pwa 7"'02

It is a matter concerning illicit relationships — MAYaw "27 T

OVERVIEW

The X3 states that we cannot use the rule of PM0°R2 7RI R"Y, to allow one
7Y to be believed that the v) was written 72W5, because an X"V is 7981 when
XX PIINR RY; here however ‘since it was WX NWRT XNOXR PIANR
(therefore), it 1s a MYaw 727 etc’. Once the X3 says that an X"V 1s not X1
by regular 710°X (even if it is not a MIY2AY 127) if it 1s XMNMOX PIIN°R, all the
X3 needed to say was that here there is a M0°X NP1, without adding that it
1s a MIYaw 127 (in which case seemingly the X"y will not be believed even if
XTI0°X PIAN°R R?). Our Moon discusses this issue.

m»oIN anticipates the following question:

= MIHYaY 929 VPYT NN
The reason the X 1) specifies that we are discussing a M= waw 937, when
seemingly it would have been sufficient to state only what the X n3 said initially, namely
that in this case of 1"92 n7"X it is XMO X PIAN°KR, for we wish to change her present marital
status, and as the X713 began saying that we only know that an X"V is 181 when PIinR &9
XMo°X. Why therefore did the X713 find it necessary to strengthen its question by claiming
that in addition to X110°X PIANYY, it is also a M yaw 127?

mooIn responds:
- (x,n9 97 M2 NAT NDYNRNIT DIVN PHNY 13939 99IN
The 5''1 says, because in ;7129 WK P70 — the X773 there when discussing -
- IR WP YAV 119 YD INVA
various 2™e°R, for instance "av and w7p and vows, where there is (a
possibility of) X110°X pinK; the X713 there -
= NJIN 1792 INDY NIDIN PINHON IDION 1129110 N NYD NPOON
is unsure whether an X"Y would be believed even in a case of PN
NN, and it was not 2333 to remove the MO°X; or he would not be believed.
Therefore the X723 could not have said here merely that it is X0°X PIAN°R, because it may
be that even by 17°2 %91 XM0°R PR an R"Y is still X3, therefore the X3 added that it is
also a Mwaw 737, and in such a case where it is (XRMO°X PIANX and’) a Awaw 137,

! This refers to 92u that does not belong to the 7v; for 72v that belongs to the 7, it is 73pn% 172

* See previous ('X77) X"y 71"7 '010, as to what is considered 17°2.

? There are also differing viewpoints if an X"¥ is 72K1 by a 17°2 121 RMOK PR K91 MWwaw 727,
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everyone agrees that an X"V is not axa?

msoIn questions the view that an X"y will be 72X by 172 X2 X1IOR PIANX:
= 19152 IND) KON PINNN IPAN PNOIN INYA )N THN 1Y IN 99NN ON)

And if you will say; if an X"y is 3281 by other 1°0°X, even in cases where

it is 1792 IXDY KOO PN -
-18YY 1Y N9 TPIOYIN ININ

Why do we need the 770 to write the 7% 7958 P09, from which we derive

from the word 3%, that she is believed to count by herself? We already know,

according to this view, that even by 17°2 W2 RMO°X PIANR an X"V is 1MK1, so seemingly
certainly in this case of 719 901 by a 721\771, which mooin already explained previously®
that it is not 77°2 W2 RMO°R PR, she will surely be believed.

nv0IN answers:
$1Y9YAY 939 190 BYUNT PNYT RPIDT 91990 U

And one can say; that we may think that the case of a 7171 declaring that

she is T, is considered like a "717waw 937, and therefore even though an X"y
may be 1R by 17°2 WX RMOX PrnR, that does not prove that he will be 1281 even by a
mMYaw 927, therefore we need the 1% 79901 7109, according to this view, to teach us that
773 is not a Smvaw 127, and therefore she is n1aXa.

SUMMARY

The &3 in M2 did not decide if an X"V is 7281 in cases of WX?1 XMO°R PIANKR
17°2, therefore our X3, needed to add that in our case of 1"92, not only is it
X0 PIAN°K, but it is also a MIYaw 127, and everyone agrees that an X"V 1s
not N1 by a XMO°N PINoRI mMAyaw 12T.

Even according to the viewpoint that an R"¥ is 181 even if X1 RM0°R PR
1772, it still would not be proof that a 771 is believed that she is already 77170,
for we may consider this 771 M0°X as a MW2Y 127, which requires two 7.
The 737 771901 7100 teaches us that she is 1K1, for this is not considered a 227

* See “Thinking it over’ # 1.
> We cannot derive this max1 from 7% 7790, as '01n previously explained that by 771 it is either PmNX XY
772 R RNOK (seeing 07) or (72°2v) 77°2) XMOR PrAnK, we must therefore conclude that this nvw has a
certain 7°% that 17°2 X771 RO PIMNR is jaR1. See ('n'mn) bl
% See previous ('X77) X"y 71"7 'o1n. See “Thinking it over’ # 2.
7 One would think that 771 is a M vaw 127 since 771 is one of the forbidden relationships. See “Thinking it
over’ #4.
% A 771 is not a M yaw 727, since there is no marital prohibition against a 773, there is only 7X*2 MO°X. See
(P mX) 717 now. See ‘Thinking it over’ # 3.
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Y.

THINKING IT OVER

1. Are we to understand the X3 to be asking one question:” XM0°X PIINKT
MIAYAw 727 WM WOR DWKRT, or two questions: a) XMOX PR and b) 027
myaw?™

2. What can we infer from this m201n as to the "7 in a case of a Mvaw 127
RTMOR PIANR ¥91,' according to moon?'?

3. Why should or should not a "*771 be considered a myaw 7272™

4. mooin explains that if not for 77 77501 we might assume that a 771is a 127
mvaw and therefore she will not be believed.' However, since a 1171 1S not
1o%10°k prnneR, and mMdOIN is assuming here that only by XMoX prAn’X and
MYaw 727 an X"Y is not believed, but not by a M7yaw 127 where it is not
XMoX pranR,'” why should I think that a 771 will not be believed?!'®

? See footnote # 4.
10 See n"m.
' See footnote # 6.
12 See mo mx "2
13 See footnote # 8.
14 See n'"m1and p MX 7"00.
15 See footnote # 7.
' See previous (‘%) 7Y "7 MOOMN.
"7 Otherwise why does the X723 mention XM0°X PHN*K?
18 See 2p Mx 7"10.
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